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Tikrit University 2012- 2013 Subject: Electronic II
College of Eng. Class: Third Date: 18/11/2012
Dept. of Electrical Eng. First Attempt Time: 2 hours

QI: The circuit shown in figure (1) has f=120, Vep=4.47V, Ch.=40pF,
Co.=1.5pF, C..=5pF, C,;=4pF and C,,,=8pF.
1. Find the bandwidth, if cutoff frequency of C, is 2.895Hz?
2. Sketch the frequency response using Bode plot?
3. Calculate the frequency and (Av/Av,g)dB at which the gain drops to

50% of its maximum value? 40 Mark
Q2:
@) For the circuit shown in figure (2) has ,=200, f,=150, hie;=20k<),
hie;=7.5K2. 50 Mark

I. Find A,y and Zys?
2. If the first stage adds 1V as a noise voltage before F.B, determine
the noise value for two stages before and after F.B?
b) What are the effect of negative feedback on gain and bandwidth?

Confirm your answer by drawing and equations. 10 Mark
YCC
10V
REI1
S0KO
Vs :}Rs C;' )
6000 #‘_
= IpF Vg Rs
j S |
[] —
RB2 1kQ
10kQ
e Fig (2)
Lecturer Good Luck,

Saad Gazai Muttlak



Tikrit University 2012-2013 Subject: Electronic IT

College of Eng. Class: Third Date: 18/11/2012

Dept. of Electrical Eng. First Attempt Time: 2 hours

Q1: The circuit shown in figure (1 ) has =120, Vcg=4.47V, Cy=40pF,
Cyc=1.5pF, C,,.=5pF. C.i=4pF and C,,,=8pF.
1. Find the banawidth, if cutoff frequency of C.is 2.895Hz?
2. Sketch the frequency response using Bode plot?
3. Calculate the frequency and (Av/A Vmi)dB at which the gain drops to

50% of its maximum value? - 40 Mark
02:
a) For the circuit shown in figure (2) has §,=200, B,=150, hie; =20k,
hie,=7.5kC). 50 Mark

4 Find Avf and Z{-f ?
2. If the first stage adds 1V as a noise voltage before F.B, determine
the noise value for two stages before and after F.B?

b) What are the effect of negative feedback on gain and bandwidth?

Confirm your answer by drawing and equations. 10 Mark
VCC
v TVCC
RB1 s RC1 r] RE2
50K 20Kk RF 0.82kQ
Ce —
B @ [y L
Vs =8 Hee
-
i Vs  Rs
RE1 KL U [ "l:
10KQ RE2
5000 L
T22pF
Lecturer Good Luck

Saad Gazai Muttlak
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